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N1 take N2 off N3
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N1O ODOO

N1 crumble

N1(200 1001000 12360000 249900000)
oopDooo:000

goooooobooboboooobooboobOobOond N-gramUdO:
In Ng: -59.719

With Ng: -60.427
During Ng: -63.973
of Nj: -68.746
with Ng: -70.529
for Np: -70.795
like Ng: -70.929
in Ng: -71.040
but Nj: -72.337

00000000 :In an earthquake a wall crumble
0 0O O :The wall crumbled to the ground in the earthquake .
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o000 610000D00O0DOODOODOODODOOODOOODOWIthDODO
OO000oOoDooooOoD trirgram 0000000000000 O0DOOODOOODOO
OO000O000O00DO0o0oDoOobOo00DimbbOOof000O0O0O0DOOO0DOODO
oooo0ooo0ON-gram OO0 00O0O00OO0OO0OO00OD00D0O0O0DO0O0DOODOOO
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N10O N20O DOOO
N1 graduate from N2

N1(40) N2(36200 1002000 (00) 123700)

gopboob:0oooob

gooobooboboboooooboobobobOond N-gramUO:

in N: -58.809
of Nj: -60.119
with Ng: -60.555
for Np: -60.691
on N: -61.087
but Ng: -63.332
like Np: -73.121
at Ny -73.390
WithN: -76.320

00000000 :He graduate from university in excellent results

0 0 O :He graduated from college with excellent records .
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N1O OO0

N1 be torn
N1(5b33000)
oooD0oo0:00000

gobooboboboboboobooobuoobuoobOon N-gramOO:

With N: -75.260
with N: -81.118
for Ny: -81.384
like Np: -81.517
in Ng: -81.629
but Np: -82.926

00000000 :With an eraser notebook be torn
0 0O O :A page of the notebook was torn by an eraser .
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Ue63:000000oboogn

ggbbbuooogbbbuoooobbbuoooobbboooon
gogbbobuoobobbooodgbobboooobbboooob

0000 : He graduate from university in excellent results
000000000 : graduate, in, results
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